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Ideals for irreducible component#ﬂ)f Xpar

I = (u® —u®? 4+ 20 1)

* 1 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI} = (u% —uf2 + ... 4+ 2u% —1)

(i) Arc colorings

1
ailz = \0

1
alg = U2

—u

as = \ —ud +u

—u? 41
ag = u?

uwt—ut 41
aiy = —u?t

—uS +ut —2u+1
as = ub + u?

ud —ub +3ut — 202 +1
ay = —u8 — 2u?

—ul0 + u® — 4u% 4+ 3u* — 3u? + 1

ar = \ —y!? 4 2419 — 448 + 6u® — 3u* + 202

w9 — 207 4 8ult® — 123 + 21wt — 220 + 20u7 — 12u® + 5ud — 2u
az = u —3u + - —3ud+u

ut® —5ut . —du? 4+ 1
az = \ 0 —6ut® 4+ ... — 10u* + u?

u?® —3u + .. —bu? +1
a6 = \ —u? + 202 + ... — 3ut + 2u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u5? — 28u% + ... + 16u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u% 42902 4 du 1
C2,C5 uWB 4 2u—1
c3, C7 u% —u? 4+ . 4+ 420u — 97
C4,C10 u63—u62+-~-+2u2—1
6 ub £ 3u? £ £ 34u—5
Cg,Cg, C11 u63—13u62+~"+4U*1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y+ 11y%2 + -+ 16y — 1
C2,C5 Y% —20y5% 4. ay -1
¢, 7 Y% — 37y5% + ... — 58340y — 9409
C4,C10 y63—13y62+--~+4y—1
Co Y%+ 7% .. — 164y — 25
Cg,C9, C11 y63+75y62+78y71
C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.906180 4 0.4221771 1.99168 + 1.389951 8.07559 + 0.942791
u = —0.906180 — 0.4221771 1.99168 — 1.389951 8.07559 — 0.942791
u=0.784033 4 0.6006481 —4.27567 4 5.816881 | —0.70813 — 8.298751
u = 0.784033 — 0.6006481 —4.27567 — 5.816881 | —0.70813 + 8.298751
u = 0.909103 4 0.4474061 3.51366 + 3.593581 10.41272 — 6.285021
u = 0.909103 — 0.4474061 3.51366 — 3.593581 10.41272 + 6.285021
u = —0.886115 + 0.5068911 —1.82319 — 4.098251 2.15651 + 6.104621
u = —0.886115 — 0.5068911 —1.82319 + 4.098251 2.15651 — 6.104621
u = 0.922893 + 0.4881117 2.97083 4 6.117071 9.16199 — 6.569761
u = 0.922893 — 0.4881111 2.97083 — 6.117071 9.16199 + 6.569761
u = —0.930909 + 0.5007711 0.97651 — 11.217907 6.00000 + 10.773141
u = —0.930909 — 0.5007711 0.97651 + 11.217901 6.00000 — 10.773141
u= 0.693202 4 0.6210621 —4.56079 — 1.255751 | —2.19329 + 0.633107
U 0.693202 — 0.6210621 —4.56079 4 1.255751 | —2.19329 — 0.633107
u = 0.928590 + 0.0453141 4.01932 + 6.325141 11.57164 — 5.865981
u = 0.928590 — 0.0453141 4.01932 — 6.325141 11.57164 + 5.865981
u = —0.922742 + 0.0245541 5.80192 — 1.270631 14.7143 + 0.75601
u = —0.922742 — 0.0245541 5.80192 + 1.270631 14.7143 — 0.75601
u = —0.733886 + 0.5500391 —1.66010 — 2.089821 2.72200 + 4.606221
u = —0.733886 — 0.5500391 —1.66010 + 2.089821 2.72200 — 4.606221
u = —0.778547 + 0.2928191 0.09263 — 3.5449171 8.23338 + 8.379761
u = —0.778547 — 0.2928191 0.09263 + 3.5449171 8.23338 — 8.379761
u= 0.817837 1.00618 9.44630

u = —0.524223 + 0.6086161 —2.97072 — 0.115057 | —1.75022 + 0.667821
u = —0.524223 — 0.6086161 —2.97072 4 0.115051 | —1.75022 — 0.667821
u = —0.453370 + 0.6592771 —0.53569 + 6.900711 1.90400 — 5.038561
u = —0.453370 — 0.6592771 —0.53569 — 6.900711 1.90400 + 5.038561
u = 0.438773 4 0.6303141 1.46155 — 1.931401 5.21037 + 0.694131
u= 0.438773 — 0.6303141 1.46155 + 1.931401 5.21037 — 0.694131
u=0.884768 4 0.8732901 —6.09691 + 4.775461 0




Solutions to I} vV—=1(vol + /=1CS) Cusp shape
u= 0.884768 — 0.8732901 —6.09691 — 4.775461 0
u = —0.881328 + 0.8856251 —4.93494 + 0.193271 0
u = —0.881328 — 0.8856251 —4.93494 — 0.193271 0
u = —0.881069 + 0.9035231 —6.02303 4 2.713061 0
u = —0.881069 — 0.9035231 —6.02303 — 2.713061 0
u=0.880732 + 0.9090531 —8.19478 — 7.844447] 0
u= 0.880732 — 0.9090531 —8.19478 + 7.844441 0
u=0.892755 + 0.9033881 —10.84960 — 0.2588171 0
u= 0.892755 — 0.9033881 —10.84960 + 0.258811 0
u=0.945495 + 0.8505201 —5.90653 + 1.617271 0
u=0.945495 — 0.8505201 —5.90653 — 1.617271 0
u = —0.954008 + 0.8555131 —4.70515 — 6.638651 0
u = —0.954008 — 0.8555131 —4.70515 4 6.638651 0
u=0.927641 4 0.8892081 —10.23000 + 3.283331 0
u= 0.927641 — 0.8892081 —10.23000 — 3.283331 0
u = —0.924436 + 0.8997081 —13.41990 4 0.591971 0
u = —0.924436 — 0.8997081 —13.41990 — 0.591971 0
u = 0.702440 + 0.0743811 0.950672 + 0.0270601 11.34231 — 0.597051
u = 0.702440 — 0.0743811 0.950672 — 0.0270601 11.34231 4 0.597051
u = —0.937504 + 0.8934071 —13.3778 — 7.20551 0
u = —0.937504 — 0.8934071 —13.3778 4 7.20551 0
u = —0.965088 + 0.8647591 —5.75398 — 9.243481 0
u = —0.965088 — 0.8647591 —5.75398 + 9.243481 0
u=0.958623 + 0.872225] —10.63780 + 6.814251 0
u= 0.958623 — 0.872225] —10.63780 — 6.814251 0
u= 0.968793 + 0.8673631 —7.9118 + 14.40041 0
u= 0.968793 — 0.8673631 —7.9118 — 14.40041 0

u = 0.350486 + 0.5663831

1.88232 + 0.208531

5.90645 — 0.295961

u = 0.350486 — 0.5663831

1.88232 — 0.208531

5.90645 + 0.295961

u = —0.285841 + 0.5713861

0.19917 — 5.009501

2.45073 + 5.542981




Solutions to I}

V=1(vol + y/=1C5)

Cusp shape

u = —0.285841 — 0.5713861

0.19917 + 5.009501

2.45073 — 5.542981

u = —0.132000 + 0.4310301

—1.65849 4 1.148711

—1.62308 — 0.852751

u = —0.132000 — 0.4310301

—1.65849 — 1.148711

—1.62308 + 0.852751




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u% +29u5% + .. 4 du+ 1
C2,C5 uB 4+ 42 —1
c3, Cr u® — %% 4 44200 — 97
C4,C10 ub — w2 -1
6 u% 4 3u% - 4 34u — 5
Cg,Cg,C11 u63_13u62+.._+4u_1
C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 YO+ 11y%2 + -+ 16y — 1
Ca, 5 Y% —29y%2 .. pdy — 1
¢, 7 Y% — 37y5% + ... — 58340y — 9409
C4, C10 Y% —13y%% . 4y -1
Co Y%+ 7y%% 4+ ... — 164y — 25
Cg,Cg,C11 y63+75y62+---—8y—1
C12




